
Exponential Functions in Banking - Example 3 - Revisited

Example: Suppose that we have $1000 to put in the bank earning 4%
interest compounded continuously. When will we double our money to
$2000?

In the original problem we got stuck at the equation:
2 = e.04·t

Now we can ”undo” the exponential on the right; using the logarithm:
Despite the messy number ln(2) on the left, we can solve for t by
Dividing by its coefficient .04:
Conclusion: It takes roughly 17.3 years for $1000 to double to $2000
earning 4% interest compounded continuously.
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